MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPT ANCE (NO A) www.miamidade.gov/buildingcode

Clopay Building Products Co.

8585 Duke Boulevard

Mason, OH 45040

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division and
accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where
allowed by the Authority Having Jurisdiction (AHJ).
This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.
DESCRIPTION: 2” EPS Insulated Sectional Door 16’-2 wide.
APPROVAL DOCUMENT: Drawing No. 101488, titled “M/N 2400, HDGL, 66, 67, 68, 2401, 4300, 4301,
4310, 4400, 4401, HDG”, dated 06/07/95 with last revision on 06/2001, sheets 1 through 4 of 4, prepared by
Clopay Building Products Company, signed and sealed by M. W. Westerfield, P.E., bearing the Miami-Dade
County Product Control Renewal stamp with the Notice of Acceptance number and expiration date by the Miami-
Dade County Product Control Division.
MISSILE IMPACT RATING: Large and Small Missile Impact
LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and following
statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change in the
applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the materials,
use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for sales,
advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of this NOA
shall be cause for termination and removal of NOA.
LIMITATION: This approval requires the manufacturer to do testing of all coils used to fabricate door panels under this
Notice of Acceptance. A minimum of 2 specimens shall be cut from each coil and tensile tested according to ASTM E-8 by a
Dade County approved laboratory selected and paid by the manufacturer. Every 3 months, four times a year, the manufacturer
shall mail to this office: a copy of the tested reports with confirmation that the specimen were selected from coils at the
manufacturer production facilities. And a notarized statement from the manufacturer that only coils with yield strength of
27,000 psi or more shall be used to make door panels for Dade County under this Notice of Acceptance
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done in its
entirety.
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and shall be
available for inspection at the job site at the request of the Building Official.
This NOA renews NOA # 02-0618.02, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.
NOA No 07-0809.02
Expiration Date: September 26. 2008
Approval Date: September 20, 2007
Page 1

9/# /77



Clopay Building Products Co.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS (evidence submitted under NOA # 02-0618.02) i
1. Drawing prepared by Clopay Building Products Company, titled “ M/N 2400,
HDGL, 66, 67, 68, 2401, 4300, 4301, 4310, 4400, 4401, HDG”, drawing No.
101488, dated 06/07/95, with latest revision on 06/2001, sheets 1 through 4 of 4,
signed and sealed by M. W. Westerfield, PE.

B. TESTS (evidence submitted under NOA # 02-0618.02)
1. Test report on Large Missile Impact Test per PA 201, Cyclic Wind Pressure Test
per PA 203 and Uniform Static Air Pressure Test per PA 202ona 16’-2’ x 8’
door model 4300, prepared by American Test Lab of South Florida, report No.
ATL 98-0213.05, dated 01/11/99, signed and sealed by W. Mehner, PE,

C. CALCULATIONS (evidence submitted under NOA # 02-0618.02)
1. Calculations prepared by M. W. Westerfield, sheets 1 through 3 signed and sealed
by M. W. Westerfield, PE. on 05/22/96.

D. MATERIAL CERTIFICATIONS (evidence submitted under NOA # 02-0618.02)
1. Tensile test report No. 8KM-2840 prepared by Q. C. Metallurgical, Inc,
2. dated 11/17/98, signed and sealed by F. Grate, PE.
3. Salt Spray Exposure test report No. 29198, prepared by Applied Research
Laboratories, dated 12/15/93, signed and sealed by C. A. Hamon, PE.
4. Ignition Properties test report No. 118052, prepared by SGS U.S. Testing
Company, Inc. dated 05/17/96, signed and sealed by D. H. Mangall, PE.
5. Surface Burning Characteristics letter reference No. R6705, 96NK12530,
prepared by Underwriters Laboratories, Inc. dated 05/24/96 and signed by J. D.
Marzullo.
E. STATEMENTS (evidence submitted under NOA # 02-0618.02)
1. Code Compliance letter issued by Clopay Building Products Co. on 04/06/99,
signed and sealed by M. W. Westerfield, PE.
1. Affidavit of minimum yield strength compliance prepared by R. D. Shifflett
employed by Clopay Building Products Company, signed by R. D. Shifflett and
notarized By S. E. Rodenhauser on 03/29/01.
2. No change letter issued by Clopay Building Products Co. on 07/15/02 and signed
by M. Westerfield, PE.

3. Tensile test report and strength compliance affidavit, signed by M. Westerfield
and notarized by S. E. Rodenhauser on 06/06/02.
F. OTHERS
1. Testing contracting statement with American Test Lab North, dated July 12, 2007,

Signed by Keith Owen.
L oo

/ Carlos M. Utrera, P.E.

Product Control Examiner

NOA No 07-0809.02

Expiration Date: September 26, 2008
Approval Date: September 20, 2007



CLOPAY MODELS 2400, 2401, 43500, 4301,

4310, 4400, 4401, HDG, HDGL

HOLMES MODELS 66, 6/, 638

(1) 20 GA.x2" GALV. STEEL BACKER PLATE
AT EACH INTERMEDIATE HINGE

LOCATION. BACKER PLATE

ATTACHED WITH DOUBLE

SIDED ACRYLIC ADHESIVE

o\

AT 1-1/4" & 3-1/2” FROM BOTTOM
ND TWO FROM TOP.

(2) 1/4” x 3/4” TEK SCREWS LOCATED

REV DATE DESCRIPTION

4| 9/96 ADD MODELS 2400 & 2401

5| 12/98 DELETE M/N 2200, 2201, 4200; ADD M/N 2310
6| 4/99 SCREW NOTE REV. ON PAGE 1

7| 4/2001 ADD HOLMES M/N & HDGL; DEL. 2300/01/10
8 | 6/2001 CHANGE VENT NOTE

16 GA. DOUBLE END STILE
EACH END STILE MEASURES
5-3/4"x2-1/8"x3/8" ATIACHED A

NOTE 1:

DOORS 6'6” HIGH CONSIST OF (4)
SECTIONS: (2) OF 21" & (2) OF 18",
DOORS 7°0” HIGH CONSIST OF (4)
SECTIONS; (4) OF 217,

DOORS 7°6” HIGH CONSIST OF (5)
SECTIONS; (5) OF 18”.

DOORS 80" HIGH CONSIST OF (5)
SECTIONS; (2) OF 21” & (3) OF 18"

NOTE 2: SUPPORTING STRUCTURAL
ELEMENTS SHALL BE DESIGNED BY A
REGISTERED PROFESSIONAL ENGINEER FOR

GARAGE DOORS WITH WIND LOADS SHOWN ON THIS DRAWING.

NOTE_3: LOCKING DEVICE TO CONFORM
TO SOUTH FLORIDA BUILDING CODE.
(SEE INSIDE ELEVATION FOR POSITION
ON DOOR.)

DESIGN LOADS: +46.6 P.S.F. & —52.0 P.S.F.

13
Ry
¥

I

TO BACK OF DOOR. A
WITH ONE #8x1/2" WAFER SCREW.
=N
Iy |I°I| AL 1 ; LA L L |I°I|
°| S V) Sp—p—— /-\J—_—:_—_—S —r—-——\ ; = f:\i}—“_‘—:g et |- |
= - ML __ Mo __ I Y _ . ‘]
l —== A T el | | elepllpale g g ——= -
e w0 ot | i 1)k it ;| bt ) bt | AR i S vew B
I ||°|| U C 1T I U 17 yiy ||°|| VIEW "C”
— —_'_—_—_‘_—_ﬂ Ib_—_—_—_—i [\A_ _______ﬂ Ib_—_—_—_—i f\A_ _"'_'__—_.'—N IA—_—_—__—_—L A_ _______ﬂ lb: E— LOCK POSITION
5 y y y (BOTH SIDES)
0 T I N N AN A e A = == TWO POINT LOCKING
T R 1l i i 1=} 1 1 1 ] CONFORMS TO SFBC
@ L1 LALL 11 LA L LA L1 il 3603.2 REGARDING
o - - - - T = - - - - = 7] - T I'avaniitit - - - - - - - ——_ bH
a y y y = 5/8” MIN.
: === ———— ——— = +——— ———— ———— — = ———— ENGAGEMENT.
2 i 1 R P .1 (e
l | - ———dH——— Q—_—_—_—_—in—_&_—_—_—&' N . ) e ———- ] INSIDE SLIDE BOLT
==== === Ay =EE== ===S=Hud LOCK OPTIONS, SEE
N— LOCATION OF OPTIONAL VENTS. U \ LAYOUT OF EACH.
/ANTOTAL VENT OPENINGS: 60 IN? PER VEHIOIE A~ OPTIONAL OUTSIDE KEYED LOCK Posmoﬂ\_ CRACKET USED FOR
SNAP LATCH ENGAGES INSIDE_ELEVATIONS END STILE.
ONTO VERTICAL TRACK. SCALE 1/2" = 1 SLIDE BOLT
ONE SNAP LATCH ON END END LOCK ENGAGES
EACH SIDE OF DOOR. INTER STILE STILE INTO VERTICAL
INTER. STILE STILE LOCK TRACK. ONE
BAR | LOCK ON
. A0 e
SKEJJEBDE—/' END_ HANDLE INSIDE_SLIDE_BOLT
OCK BAR LOCK OPTION
HANDLE ENgAGES IN CONFORMS TO SFBC 3603.2
OUTSIDE_KEYED ngilrEE e LR
OUTSIDE_KEYED LOCK EACH SIDE -
SNAP_LATCH LOCK OPTION LOCK BAR LOCKING - OF DOOR,. PAGE 1 OF 4

CONFORMS TO SFBC 3603.2

DESIGN ENGINEER

MARK W. WESTERFIELD, P.E.
MECHANICAL ENGINEERING
FLORIDA REGISTRATION No. 48495

CONFORMS TO SFBC 3603.2

ay
am Blopay =0 e

CLOPAY BUILDING PRODUCTS COMPANY I**“¢ NOTED

PLOT: MAX DOOR SIZE:

1=24 16,2”W X 8,OnH

" 6/7/95

DESCRIPTION: | /N 2400, HDGL, 66, 67, 68

DRAWN BY: KFH

2401, 4300, 4301, 4310, 4400, 4401, HDG

o) e (513) 770-4800
Building Products

C om p an y Clopay Corporation All Rights Reserved.

CHECKED B

B DRAWING NUMBER: REWV:

101488 8




CLOPAY MODELS 2400, 2401, 4300, 4301

REV DATE DESCRIPTION

, 4310, 4400, 4401, HDG, HDGL 2 | 7/96 GENERAL REVISIONS

HOLMES MODELS 66, 67, 68

SECTION A—A (SIDE VIEW)
SCALE 2" = 1’

" SILICONE FILLED CHANNEL SEPARATES 3 | 8/96 CLARIFY MODEL NUMBERS
—l § A l— 2" THICK FRONT AND BACK SKIN OF DDOR 4 9/96 ADD MODELS 2400 & 2401
i 5 12/98 YIELD WAS 33 KSI; ADD 2310 DEL. 2200/01, 4200

}.f—i\ ., 6 4/99 SCREW QTY. CHANGE ON PAGE 2
1.95" THICK, 14 DENSITY EXPANDED 7 | 4/2001 |ADD HOLMES M/N & HDGL; DEL. 2300/01/10;

POLYSTYRENE FOAM INSULATION

G—40 MIN. WAS G—60; NEW M/N CHART

12 GA. GALV. STEEL TOP ROLLER BRACKET.
EACH BRACKET ATTACHED W/(6) #14x5/8" &\
SHEET METAL SCREWS. ADJUSTABLE SLIDE ATTACHED

TO TOP BRACKET WITH (2) 1/4"x1/2” BOLTS AND

, — (SUPPLIED BY FALCON MANUFACTURING)
) \ LAMINATED TO BOTH EXTERIOR 8 6/2001 |CHANGES TO PAGES 1 & 4
A AND INTERIOR SKINS.

TONGUE AND GROOVE JOINTS.

INSTALLER RETAIL

MODEL MODEL DESCRIPTION

4300 HDG, 66 27 GA. EXT. SKIN; SHORT RAISED PANEL
4400 2400 24 GA. EXT. SKIN; SHORT RAISED PANEL
4401 2401 24 GA. EXT. SKIN: FLUSH PANEL

4301 68 27 GA. EXT. SKIN; FLUSH PANEL

4310 HDGL, 67 |25 GA. EXT. SKIN; WIDE RAISED PANEL

WMK \‘*
~N

=

14 GA. GALV. ROLLER HINGE.
EACH HINGE FASTENED TO END

STILES W/(4) #14x5/8” SHEET METAL

AND (2) 1/4"x3/4” ‘SELF TAPPING SCREWS.

(SEE VIEW "B")

ONE 6" TALL, 16 GA. C—CHANNEL PER DOOR SECTION.

27 GA. MIN. EXTERIOR STEEL SKIN/‘:'-'.'.

(MIN. YIELD STRENGTH: 27 KSI, A\
DRAWING QUALITY) WITH G—40 MIN. GALV.,
BAKED—ON POLYESTER PAINTED TOP
COAT APPLIED TO BOTH SIDES

(2) 1/4"x3/4” SELF TAPPING SCREWS PER END STILE AND
ONE 1/4"x3/4” SELF TAPPING SCREW PER BACKER PLATE
LOCATION. (SEE VIEW "D )A

16 GA. GALV. STEEL

DESIGN ENGINEER

%;

WITH G—40 MIN. GALV., BAKED—ON PRIMER AND

A BAKED—ON POLYESTER PAINTED TOP /
COAT APPLIED TC BOTH SIDES OF STEEL SKIN. %

3
/

OF STEEL SKIN.

DESIGN LOADS: +46.6 P.S.F. & —-52.0 P.S.F.

_ P

7 s

13 GA. GALV. STEEL BOTTOM BRACKET. /
ATTACHED WITH (4) #14x5/8” SHEET METAL SCREWS. //ag N

ARK W. WESTERFIELD, P.E.

27 GA. INTERIOR STEEL SKIN (DRAWING QUALITY) /MECHAMCAL ENGINEERING
/ FLORIDA REGISTRATION No. 48495

T RENTWED
% the Florida

-7

NUTS PER BRACKET. 6"
1-1/4” WIDE x 16 GA. GALV. STRAP. L2—1/2"
(7) PER DOOR SECTION ON 16’ WIDE DOORS. o
(SEE INSIDE ELEVATION). EACH STRAP ATTACHED —| l—5/8" (TYP.)
WITH (3) 1/4”x3/4” SELF TAPPING SCREWS (TWO
SCREWS™ TO DOOR, ONE SCREW TO C—CHANNEL). VIEW ”D”
6” TALL C—CHANNEL

i

92

O

08

A: oot Bade Prosuct Conteel
ALUMINUM EXTRUSION & VINYL WEATHERSTRIP. PAGE 2 OF 4 s D Fro
ay CLOPAY BUILDING PRODUCTS COMPANY [*** NOTED M 1=24 | "TE"W x 8°0°H
n n a 8585 DUKE BLVD. W7 /6,95 WX
- MASON, OH 45040 DESCRIPTION M /N 2400, HDGL, 66, 67, 68,
Buildi Product (513) 770-4800 RAVN B KFH 2401, 4300, 4301, 4310, 4400, 4401, HDG
cts . .
uilaing rodau : : — B DRAWING NUMBER 101488 Rév
Com pq ny Ciopay Corporation All Rights Reserved. 1




REV DATE DESCRIPTION

CLOPAY MODELS 2400, 2401, 4300, 4301, 4310, 4400, 4401, HDG, HDGL s

HOLMES MODELS 66, 67, 68 NOTE: EITHER BRACKET MOUNT OR CONTINUOUS 8| 6/2001 CHANGES TO PAGES 1 & 4

#14x5/8" SHEET METAL SCREWS ——  ANGLE TRACK MAY BE INSTALLED (AS SHOWN). 3 HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (TO SUIT)

DOOR COUNTERBALANCE SYSTEM

* — 14 GA. INTER. HINGES % 13 GA. GALV. STEEL FLAG BRACKET
USED ON 24 GA. EXTERIOR OR 12 GA. GALV. STEEL CONTINUOUS
1/4"x3/4" SELF SKIN DOOR MODELS. l 1-5/8" x 2-3/8" ANGLE. ) )
TAPPING SCREWS. ! LT g ATTACH FLAG BRACKET WITH (3) 5/16"x1-5/8
14 GA. END HINGES 18 GA. INTERMEDIATE HINGE z 9 LAG SCREWS.
SCALE 2" = 1’ SCALE 2" = 1’ m <|g4—76"(7'6"H & 8'0"H DOORS ONLY)
VIEW "B VIEW "C” 9 2
JAMB PREPARATION NOTE S ol , DOOR [
TRACK SHALL BE FASTENED TO 2x6 YELLOW PINE WOOD JAMBS WITH 5/16"x1-5/8" Q =|H— 63 2" GALV. STEEL TRACK, HEIGHT | "L
LAG SCREWS (9 LAG SCREWS PER SIDE UP TO 70" HIGH AND 10 LAG SCREWS = /TRACK THICKNESS: 083" 6-6" |70
PER SIDE UP TO 8’0" HIGH). PREPARATION OF JAMBS BY OTHERS. ! 3|7 ) 7—-0" ] 76"
TRACK BRACKETS OR ANGLES MAY BE MOUNTED DIRECTLY TO = “l§r— 50 TRACK CONFIGURATION | 7. =6 |82
CONCRETE USING APPROVED MASONARY FASTENERS. A\ o fpgf SCALE 1/2” = 1 8—0" ]88
T . »
- i 38 TYP. 2—1/2"x12 GA. GALV.
z 5, STEEL TRACK BRACKETS OR CLIPS.
z Q DISTANCE FROM BOTTOM OF VERTICAL
o =1 04" TRACK TO EACH BRACKET/CLIP IS:
© o 3—-1/2", 10", 24", 38", 50", 63",
. — X AND 76" (7'6"H & 8'0"H DOORS ONLY).
!" DOOR OVERLAP (EACH SIDE) OPTIONAL STOP MOULDING BY INSTALLER (TO SUIT) L. \ ONE 5/16"x1-5/8" LAG SCREW PER )
16 GA. GALV. STEEL DOUBLE END STILE EH— 10 RACK BRACKET.
2x6 WOOD JAMB Ed
SEE "JAMB PREPARATION % 7 1 AN NMMMNMNRN
NOTE” ABOVE 2%
— ) ' ¥ - 2-1/2"x12 GA. GALV. STEEL TRACK
12 GA. GALV. STEEL < BRACKETS FASTENED TO WOOD JAMB
CONTINUOUS ANGLE FASTENED TO WOOD WITH 5/16"x1-5/8" LAG SCREWS

<. NOT( T)O EXCEED 14" O.C. MIN.
OF (9) LAG SCREWS REQUIRED.
INSTALLED ON ROLLER 2" GALV. STEEL TRACK FASTENED TO 12

Sggg OFSSR/ST’I\‘ORI\IESTR'CTED 18 GA. GALV. STEEL INTER. HINGE GA. GALV. STEEL TRACK BRACKETS. TRACK
- FASTENED W/(4) #14x5/8" ATTACHED TO EACH BRACKET WITH TWO
14 GA. GALV. STEEL ROLLER HINGES  SHEET METAL SCREWS. 1/4" DIA. RIVETS.

FASTEI\}ED TO END STILES W/(4) EACH _
14x5/8" SHEET METAL SCREWS AND /%/
TO 12TS§&:KGAAL¥T'A§|:E%LTI)RAE%HC%T% 2) 1/4” SELF TAPPING SCREWS PER END HINGE. DESIGN ENGINEER
i
WITH ONE 1/47x5/8”" BOLT & NUT. ) e AN ESERE[ELD, 8 N7 X
EACH TRACK CLIP ATTACHED TO 2 DIA. LONG STEM, 10 BALL STEEL ROLLER. FLORIDA REGISTRATION No. 48495

CONTINUQUS ANGLE WITH

JAMB WITH 5/16"x1-=5/8" LAG SCREWS
NOT TO EXCEED 14" 0O.C. CONTINUOUS
ANGLE MAY BE NOTCHED OUT FOR JAMB
TO STRUCTURE ATTACHMENT POINTS.

MIN. OF (11) LAG SCREWS ARE REQUIRED.

7/16” PUSHNUT

2" GALV. STEEL TRACK FASTENED

SCALE: PLOT: MAX DOOR SIZE

(2) 1/4” DIA. RIVETS PER CLIP. ay CLOPAY BUILDING PRODUCTS COMPANY
L NOTED 1=24 3~ YA
PAGE 3 OF 4 clopa 8585 DUKE BLVD. e 162 W x 80H
MASON, OH 45040 6/7/95 DESCRIPTION \ /N 2400, HDGL, 66, 67, 68,
sams_conriuraTion | y (513) 770-4800 DRAN BY: 2401, 4300, 4301, 4310, 4400, 4401, HDG

DESIGN LOADS: +46.6 P.SF. & ~52.0 P.SF. ~ SCALE 2° = 1! |Building Products o 4300, & Ho
C om p an y Clopay Corporation All Rights Reserved. CHECKED BY: B 101488 8




REV DATE DESCRIPTION
CLOPAY MODELS 2400, 2401, 4300, 4301, 4310, 4400, 4401, HDG, HDGL 2 | 9796 ADD MODELS 2200 & 2401
HOLMES MODELS 66, 67, 68 5| 12/98 ADD M/N 2310; DELETE M/N 2200, 2201, 4200
- 11D - - | | , 6| 4/99 NO CHANGES ON PAGE 4
2x6 JAMB TO SUPPORTING STRUCTURE ATTACHMENT 7 4;2001 ADD HOLMES M/N & HDGL; DEL. 2300/01/10
NOTES: 8] 6/2001 REVISED VERTICAL JAMB DESIGN LOAD NOTE 2.
1) ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK HORIZONTAL JAMB
TO THE 2x6 VERTICAL JAMBS (GRADE 2 OR BETTER YELLOW PINE). NO LOAD FROM THE ] (NO LOAD FROM DOOR) ]
DOOR IS TRANSFERRED TO THE HORIZONTAL (TOP) JAMB. A f AN
2) EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +2,982.4 LB & —-3,328 LB. . (€ .
3) ALL JAMB FASTENERS MAY BE (BUT NOT REQUIRED) COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
WOOD FRAME BUILDINGS . P
FASTENER
STUD WALLS OF DOOR OPENING SHALL BE FRAMED SOLID BY NOT LESS THAN (3) 2x6 PRESSURE TYPE
TREATED GRADE #2 OR BETTER WOOD STUD OF A STRESS GRADE NOT LESS THAN 1200 PSI NOMINAL /
EXTREME FIBER STRESS IN BENDING (Fb) STUD WALLS TO BE CONTINUOUS FROM FOOTING TO TIE BEAMS MIN. No. =
AND IN ACCORDANCE WITH SFBC SECTION 2905.1. %FERFA\/SJFE'I[\IJEELS
BLOCK WALL OR CONCRETE — JAMB ~
2x6 WOOD JAMB SHALL BE ANCHORED TO GROUT REINFORCED BLOCK WALL OR CONCRETE COLUMN. MAX. O.C. 546 VERTICAL JAMB
BLOCK WALL CELLS SHALL BE FILLED WITH CONCRETE AND REINFORCED WITH #5 BAR EXTENDING { .
INTO THE FOOTING AND INTO TIE BEAMS. ALL BARS SHALL BE CONTINUOUS FROM THE TIE BEAMS —° °
TO FOOTING PER BLOCK WALL OR CONCRETE COLUMN. BLOCK WALLS AND CONCRETE COLUMNS TO BE / N
DESIGNED BY BUILDING PROFESSIONAL OF RECORD AND IN ACCORDANCE WITH SFBC SECTION 2704.2.
2x6 JAMB TO SUPPORTING STRUCTURE ATTACHMENT
(NOT TO BE USED FOR ATTACHMENT OF TRACK BRACKETS TO 2x6 VERTICAL JAMBS OR SUPPORTING STRUCTURE)
MIN. No. OF | MAXIMUM o
FASTENERS ON CENTER
PER VERTICAL | DISTANCE STEEL Y
JAMB BETWEEN WASHERS (&~
BUILDING TYPE FASTENER TYPE 7H 3'H FASTENERS REQUIRED?ff”.a
WOOD FRAME (SOUTHERN PINE) 5/16” x 3" LAG SCREW (ASTM A307, GRADE A). 1-5/8" MIN. EMBED 10 11 10" YES
C—90 BLOCK (2,000 PSI GROUT) 1/4” x 4" ITW TAPCON CONCRETE ANCHOR. MIN. 1-3/4" EMBED # 10 11 10" YES
C—90 BLOCK (2,000 PSI GROUT) 3/8”° x_ 4" RAWL LOK/BOLT ANCHOR BOLT (5000 SERIES). 1-5/8" EMBED# 9 10 11" NO
CONCRETE COLUMN (2,000 PSI) 3/8" x 47 RAWL LOK/BOLT ANCHOR BOLT (5000 SERIES). 1-5/8" EMBED# 9 10 117 NO
# — TAPCONS/ANCHOR BOLTS CAN BE INSTALLED DIRECTLY THROUGH TRACK BRACKETS/ANGLE (N LIEU OF 5/16"x1-—5/8" LAG SCREWS (SEE PAGE 3).
RAWL LOK/BOLT SHALL BE TORQUED AS SPECIFIED BY THE RAWL PLUG COMPANY. DESIGN ENGINEER
MARK W. WESTERFIELD, P.E. - ]
PAGE 4 OF 4 MECHANICAL ENGINEERING %@é%@agﬁmdeﬁrg~e~zsm@€@zzaml
/ﬂ///, / FLORIDA REGISTRATION No. 48495 ivision
ws s CLOPAY BUILDING PRODUCTS COMPANY [SCA-€ PLaT! MAX DOOR SZE
////é’y/ §78772 ay cl 8585 DUKE BLVD. s—OTED 1=24 16°2"W_x_8'0"H
- npay MASON, OH 45040 7/6/95 DESCRIPTION | /N 2400, HDGL, 66, 67, 68,
. L (513) 770-4800 AN BT 2401, 4300, 4301, 4310, 4400, 4401, HDG
DESIGN LOADS: +46.6 P.S.F. & —52.0 P.S.F. BUI'dlng PI’OdUCfS MWW DRAWING NUMBER: REV1
C 0 m pa n y Clopay Corporation All Rights Reserved. CHECKED BY: B 1 O 1 488 8




